MCR3U Review Ch. 5

____
1.
An angle in standard position has its initial arm along the




	a.
	positive x-axis
	c.
	negative x-axis

	b.
	positive y-axis
	d.
	negative y-axis




____
2.
The correct expression for tan  for a point P(x, y) on the terminal arm of an angle θ in standard position is











	a.
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	c.
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	b.
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____   3.
Which of the following trigonometric functions are negative for an angle θ in the third quadrant?

	a.
	sine and cosine
	c.
	cosine and tangent

	b.
	sine and tangent
	d.
	tangent


____
4.
The principal angle θ for the point P(4, 7) on the terminal arm of an angle θin standard position is closest to











	a.
	30°
	c.
	41°

	b.
	60°
	d.
	26°


____
5.
The angle shown in the diagram below is



[image: image5.emf]


	a.
	45
	c.
	160

	b.
	225
	d.
	135


____
6
One approximate solution for the equation sin x = 0.75  is

	a.
	13
	c.
	131.4

	b.
	–47
	d.
	228.6


____
7
A valid solution set for the equation tan θ [image: image6.png]


 for the domain [image: image7.png]0<x<360°



 is

	a.
	120
	c.
	120, 300

	b.
	60
	d.
	60, 300


8. The point P(–5, –12) is on the terminal arm of an angle in standard position. Determine the values 
(in fractional form) of the three primary trigonometric functions of this angle and calculate the value of the principal angle to the nearest degree.

9. The value(s) of θ that makes [image: image8.png]


  is
  ______________________________



10. A valid solution set for the equation [image: image9.png]


 for the domain [image: image10.png]0<x<360°



 is

	a.
	30
	c.
	30, 150, 210

	b.
	30, 150
	d.
	150, 210


____
11.
The angle θ is defined by the point P(3, 4). The value of sin θ is


	a.
	[image: image11.png]



	c.
	[image: image12.png]




	b.
	[image: image13.png]



	d.
	[image: image14.png]





12.
If [image: image15.png]


, determine tan θ if θ is an angle in the third quadrant.



13.
Prove the identity
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